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< H 3. AIII2 Ediold KI(HA 5000mW &) >

H 58 =LUAHZEE & Eloid ol

2 | 2y W &

25 = | 4000m ST + 2000m(3—E—R>:<1) x 3 + 400m x 6 9 35 “-9" 32 “-9 30 “~1" 48
26 = 14000m ST 1:23:30

27 = 8000m PW 1000m : 5" 30 “

28 | & | 8000m PW 1000m : 5" 12 ©

29 3t | 5000m PT 24’ 28

30 = | 30& jog + 30= ST

1 | = | 4000m Bup™? + 2000m x 1 9 30

2 =2 | 302 jog + 30& ST

3 & | 6000m ST + 1000m x 1 + 400m 4 45 “-1" 467

4 & 22 =L A== 5000mW 23" 38 “80 XIJ|4l(PB)
*1 R elAd 2l (Recovery)
*2 . Bup : ZE& 2 (Build-up)

H72  NAH & 82 A

2 | 2y W =

1 3t | 14000m PW 1:18:27

2 = | 6000m PW + 1000m x 1 6000m : 33" 00 “ 1000m : 4 40
3 = | 5000m PT 24 10 “

4 = | 402 jog

5 £ 10000m PW 57 21 °

6 2 | 2000m (3= R) x 3 9" 55 “-9" 30" -9" 35 °

7 E=| 8000m PW + 400m x 2 8000m : 33 ‘54 400m : 1 50 °
8 2t | 2000m jog + 4000m ST + 1000m x 3

9 % | 6000m ST + 1000m x 1 6000m : 33" 54 1000m : 4" 34
10 = HIAH |24 5000mMW 25 23" 50 “69 2%
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W 103 @ QAL g A

2 | QY W =
i | & | 12000m PW 1:03:18
2 | = | 502 jog
3 | = |5000m PT 23 41 “ ¢
4 | 2 | 202 jog
5 | & | 10000m ST 559 ‘30
6 | 2 | 2000m (32 R) x 3 9 31 “-9 30" -9’ 30
7 = 40& jog
8 | & | 302 jog + 4000m ST 4000m : 23 ‘40 *
9 | = | 4000m ST + 1000m x 1 4000m : 23 20 * 1000m : 4" 35
10| = | M 50000 ZS 23 03 “33 2%
< H 4. A2 EdlolY ol (&R 5000mN &==) >
H 52 : FLIWHZE & Edold ol
Y | 2y W &
i | 3 | 10000m PW 55 02
2 | = | 10000m PW 55 ‘07"
3 | = | 2000m (32 R) x 3 + 400m(30% R) x 3 AN
4 | 2 | 10000m ST 59 39 °
5 | & | 502 ST
6 | 2 |8000m PW + 100m x 3 km : 5" 30 “HOIA
7 | 2 | 6000m ST + 2000m X 1 kn : 6" 00 “ BHOIA 8 ‘54
8 | & | 6000m ST 36 12
9 | 4 | 4000m PW + 1000m x 1 23 38 “ 4 25 °
0| 8 | DS2 M4 50000 25 22 ‘36 88 R
W72 QA3 03 ®
2 | 2 Ly 2
24 | 2 | 602 ST
25 | 3 | 8000m PW 43:30
2 | 4 | (2000m + 400m) x 2 + 2000m 9" 17 “~1 45" -9’ 07 "1 ‘40" -8’ 50 "
27 | = | 6000m ST
28 | 3 | 10000m PW 56 '58
29 | = | 8000m PW 43 36
30 | 2 | 2000m + 1000m 8 ‘52 “(4' 30" -4 ‘22 “)-4' 19"
3 | 2 | 6000m ST
i | & | 6000m ST + 400m X 2 142 "1’ 407
2 | & |402 9T
3 | =2 | At Thal 5000m ol & 23 ‘08 “51
4 | 2 | A3t T3 5000 Z& 22 ‘16 “75 R
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o | ey W &
13 2 | 10km ST
14 | & | 8000m Bup + 1000m x 1 46 04-4" 17 *
15 | 2 | 400m(200m) x 5 + 200m(100m) x 9 + 300m 1 45 “-52” —1° 20 “ 5000m =+ 23 ‘03
6 | & | 6km ST 34 48 ¢
17 | 3 | 10000m PW 54 ‘49
18 | 4 | 2000m x 1+ 400m x 2 8 ‘37 “-1" 43" -1 ‘38
19 | = | 6000m ST 35 00
20 | 2 | 6000m ST 36 ‘09
21 | & | 6000m ST + 1000m x 1 416 “
22 | 2 | &0 0fsl s000mi 2 21 ‘38 “53 2%, PB
25 dSHEHE Ol O
(43 HSHEE AY)
Al Old (88 32) 2S5 (88 4¢)
00 | 2:00 I ] 5:00 Ol 4t ]
5:30 » 6:00 AF®4 5:30 o 6:00 AHE
6:00 | 6:00 XAl 6:00 ZAl
7:00 | 2AMA SA SANA FA
8:00 | RAMA EA SANA SA
9:00 | 9:00009:30 A% 9:002°9:30 AFZH
10:00 | 2A0MA SA SANA FA
11:00 11:30 &4 Al 11:30 & A
2:00 | {5130 z%f%a 1580 2%5%’&
R 320 HEe AR [P5 (255x 3. HolEIS 245124 HOIA ©
14:00 A2 =2 14:10 2 =2
14:00 | 14:20 A& 14:20 A&
14:25 5000ml Ol & 1 AEIE 14:25 5000ml 25 AEIE
15:00 - -
16:00 16:00 dcles -
17:00 | 17:00 Oi X 3000mN 22 17:00 A2 0|S
19:00 | 19:00 AAl
20:00 | 20:00~20:30 DIE
21:00 SN 54
22:00 22:00 F &
23:00 -
H 6. |2 o
(1) AEH& 10 2
(2) SHY BSI(JISSH) : 157202, L= K2 =2 2= 2000~ 3000m
(3) AEZ : 2000~4000m = 2 & 3 : 2000~ 4000m
(4) 100~ 120m x 375 : #HOIA HOIA 2S
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